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2. Find the n™ derivative ofl-—x---—— _ ' : ' - [06] , C L3
, ' (x+1)2(x+2) : ,
3. Ifx =sint andy = cosmt, prove that . ) ¥ _ . [06] | col 13
(1= %2 Yniz = 2+ Daypeg + (m? —n?)y, = 0. .
4. Fmd ﬂ_fe _-anglé between the curves r = a(i + cos-B) r_and 2 = az_cos 29_. [06] | CO2 | . L3
i ooty |
- 5. Find the pedal eqﬁa‘_cion of the curve ™ = a (cosmf + sthmf). [06] | CO2 | L3.
- 6. Show that the radiué of curvature at-any point on the cycloid x = a(6 + sin 8),
: Sl e g T [06] | co2| L3
y = a(1 — cos 8) is 4a cos(?/5).
7. Show that for the curve (1 — cost) = 2a, p2varies as 2, where p is the radiug 06] | coz | 13
© ofcorvature. - Rl ' : G T
8. Show that the tangenits to the cardioid 7= a(1+ cos0) at the points 0 = 13—ran'd o [
g= %E are respecfively parallel and perpendicular to the initial line. [06]
9. Obtain the Maclaurin’s expansion of etan % upto term_contai'ni'i}g ah O [06] CcO1| L3
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